1. Circle the correct choice/s.

1) According to the text, what are the three most common reasons why a person gets a tattoo?
a) pressure from their peers ¢) influence from the media

b) for health reasons d) a way of personal expression

2) According to the text, which of the following are common ways that people show they belong to a certain group?

a) wearing a tattoo ¢) wearing a special uniform
b) wearing special clothes d) wearing a special kind of socks
3) According to the text, media images are linked tO ... evesrcevecrcncerernn, Choose all that apply.
a) wealth c) success
b) status d) debt
4) According to the text, Mark thinks people who get tattoos are ... ceeececerennes :
a) brave ¢) old fashioned
b) cowardly d) crazy

2. Find words or expressions in the text which mean:

a) without interruption, gradually (paragraph 1) ....cccoveeeeenne.
h) the state of being rich (paragraph 2) v
c) to show thoughts or feelings (paragraph 4) .......coeeee...



